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1. AGiven the fact that your patient is displaying signs of Parkinsonism (resting tremors, lead pipe rigidity, marche a petit pas) what circuit or circuits are affected ?
a. The direct basal ganglion circuit is released from inhibition.

b. The D2 receptors of the striatum are being stimulated.
c. *The indirect circuit is disinhibited. The thalamic VA/VL nuclei are being stimulated.
d. The indirect basal ganglion circuit is inhibited.

AThere is a high probability of confusion regarding choice c due to the second sentence.  Therefore, in fairness to all, everyone gets 0.5 points.

2. The “On Center-Off Surround” neural field will stimulate on center “on” ganglion cells (to perceive light) if:
a. The horizontal cells become depolarized.
b. The “Off Center” cones become hyperpolarized.
c. *The “On Center“ cones become hyperpolarized.
d. The “Off Center” cones become depolarized.

3.
The sensation of smell: 

     a.
Requires one specific receptor cell for each of the 400 to 1,000 stimuli.


     b.
Has only very few connections to the other areas of the CNS.

          c.
Elicits a tonic type of response, not a phasic type.
d.
*Has a relatively narrow range of sensitivities.
4.
A patient of yours has severe trauma to the TMJ.  Unfortunately, during recovery from surgery, a MRSA infection sets in at the TMJ.  When you examine the patient post-operatively, the patient complains of severe vertigo.  The patient’s eyes display continuous saccades.  Does this indicate that the infection may have somehow involved the vestibular apparatus ? 
a.
* YES.
b.
NO. 
